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QUESTION 1
Your client wants its website to support multiple channel delivery. The client has new requirements:
1.The web pages should rearrange themselves for smaller devices and/or browser size and/or orientation.

2.Editors do not need to do anything more or learn anything new than what they do or know currently, with regard to
their current 1024-pixel-wide website.

3.The client wants to keep the amount of code testing to a minimum.
Which solution best meets these requirements?

A. Create multiple instances of Article assets, one each for the type of device that you want to support, and assign them
the appropriate template.

B. Create multiple instances of responsive templates, one each for the type of device that you want to support, by using
namespaces to distinguish between them at request time.

C. Install multiple WebCenter Sites delivery environments, one each for the type of devices that you want to support.

D. Refactor your existing templates by using the open source CSS and JavaScript libraries to enable responsive
behaviors.

Correct Answer: A

QUESTION 2

You are replicating the site Avi with a prefixType2Avi. Which two statementsare true?
A. All asset types and subtypes are copied to the Type2Auvi site.

B. Asset associations are shared between the Avi and Type2AVi sites.

C. All users for the Avi site are shared with Type2Avi but not copied.

D. Start menus are shared from the Avi site to the Type2Auvi site.

Correct Answer: AD

QUESTION 3

What happens when you call the render:logdeptag?

A. Composition dependencies are updated.

B. Approval dependencies are updated for rendermode=live.
C. Cache logs are updated.

D. Rendering template logs are updated.
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Correct Answer: B
Reference:

http://docs.oracle.com/cd/E29542_01/doc.1111/e29634/dev_codingelements.htm

QUESTION 4

When you want to cache aCSElement explicitly, you need to:
A. create an external dependency for the element

B. create a SiteEntry for the element

C. add the tag to the element

D. add the tag to the element

Correct Answer: B

Reference:

http://docs.oracle.com/cd/E29542_01/doc.1111/e29634/devtemplateassets.htm

QUESTION 5

Which statement is NOT true about a collection?

A. collection is an ordered list of assets of one type.

B. collection uses a query asset to obtain a list of possible assets.
C. By default, a collection can have up to three query assets.

D. The assets in a collection cannot be ranked.

Correct Answer: C
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